

Meadows of Mendon Stables, LLC 1536 W. Bloomfield Road, Honeoye Falls, New York 14472 Business Line: 585-582-1437 TEXTING ONLY: 585-545-1406 Email:

meadowsofmendonstables@twc.com
Web Site:

www.meadowsofmendonstables.com

Winter-Spring 2024 Horseback Riding Lesson Program

Hosted by the Meadows of Mendon Stables, LLC

- Winter-Spring Dates to mark your calendar:
- Spring Break Riding April 01-05, 2024, Monday Friday, 7:30 a.m. to 5:30 p.m. \$375.00 per rider

ALL Winter-Spring 2024 Riding Dates:

- Wednesdays: Jan. 24, 31; Feb. 07, 14, 28; Mar. 06, 13, 20, 27; April 10, 17, 24; May 01, 08, 15, 22, 29; June 05, 12, 19, 2024
- Thursdays: Jan. 25; Feb. 01, 08, 15, 29; Mar. 07, 14, 21, 28; April 11, 18, 25; May 02, 09, 16, 23, 30; June 06, 13, 20, 2024
- Fridays: Jan. 26; Feb. 02, 09, 16; Mar. 01, 08, 15, 22, 29; April 12, 19, 26; May 03, 10, 17, 24, 31; June 07, 14, 21, 2024

Summer 2024 youth day program, overnight program, adult riding programs, family riding programs, trail rides & weekly lessons. Forms Available January 2024.

- June 24 28; All Programs
- July 08 12, 15 19, 22 26; All Programs
- July 29 August 09; No day program, overnight only
- August 12 16, 19 23; All Programs

- Adult Horseback Riding Programs (ages 18 and up):
- Riding Level: Beginner & Beginner-Intermediate Classes
- Dates: Thursdays: Jan. 25; Feb. 01, 08, 15, 29; Mar. 07, 14, 21, 28; April 11, 18, 25; May 02, 09, 16, 23, 30; June 06, 13, 20, 2024
- Times: 3 p.m. to 8 p.m., EVERY 45 MINUTES, 3 p.m. to 3:45 p.m., 3:45 p.m. to 4:30 p.m. and so on...
- Single Riding Tuition: 20 classes x \$55.00 per class= \$1,100.00 Due with Completed Registration Form.
- Please pay in full or Monthly Payments are DUE BY THE 1St OF EACH MONTH.
- Spring Trail Riding April 11, 18, 25; May 02, 09, 16, 23, 30; June 06, 13, 20, 2024 Times: 3 p.m. to 8 p.m. (ages 5+), \$50.00 per person for groups 1-8 registered riders. Ponies for pee-wees & tandom riding, western & English saddles, 21 well-mannered school horses We walk with new riders and beginners. Round pen and lunge-line trotting available for beginners. Intermediate riders are welcome to our cross-country course and outdoor riding arena. Photo opportunity & sterilized ASTM horseback riding helmets provided. Nice family or work group activity!
- Family Riding Programs (ages 4+and up):

Mother-Daughter or Mother-Son; Father-Daughter or Father-Son; Grandparents and grandchildren; Siblings riding together- Sister-Sister, Sister-Brother, Brother-Brother.

• Dates: Thursdays: : Jan. 25; Feb. 01, 08, 15, 29; Mar. 07, 14, 21, 28; April 11, 18, 25; May 02, 09, 16, 23, 30; June 06, 13, 20, 2024

Time Options: 2 p.m. to 7:45 p.m., EVERY 45 MINUTES, 3 p.m. to 3:45 p.m., 3:45 p.m. to 4:30 p.m. and so on.....

Riding Tuition: 20 classes $x $50.00 = $1,000.00 \times 2 \text{ riders} = $2,000.00 \text{ DUE WITH COMPLETED REGISTRATION FORM.}$

Please pay in full or Monthly Payments are DUE BY THE 1St OF EACH MONTH.

- Children's & Pee Wee Horseback Riding Programs(ages 2+): 40 minutes of riding time. This program is for younger riders.
- Dates: Thursdays: Jan. 25; Feb. 01, 08, 15, 29; Mar. 07, 14, 21, 28; April 11, 18, 25; May 02, 09, 16, 23, 30; June 06, 13, 20, 2024

Time Options: Choose a 40 minute time slot on Thursday between the hours listed below. We will do what we can to accommodate your preferred time.

Thursdays: 2:00pm-2:4Spm, 2:45pm-3:30pm,3:15pm-4:00pm, 4:ISpm-5:00pm, 5:00pm - 5:45pm, etc.

Riding Tuition: 20 classes Thursdays x \$60.00 per class= \$1,200.00 Due with a Completed Registration Form.

Youth Horseback Riding Programs (ages 5 to 21):

This program is for mature riders who are able to participate in a 3 hour – 5 hour program. Same time, Same Day, Same Schedule.

Riding Level: Beginner & Beginner-Intermediate Classes

• Dates: Wednesdays, Thursdays & Fridays: 20 Weeks

January 24 – June 21, 2024: Time Options: 2 p.m. to 9 p.m.

Riding Tuition: You are paying for your lessons, NOT horse time. If you need to ride your lesson time and go to another activity, schedule in advance. Horse time= Volunteer time, barn time, grooming time, feeding time, cleaning horse equipment & horse area time, group project time, Nursing care of ponies & horses time, etc....

- Option #1: *Children's/Youth: 3 Hour Horseback Riding Program, Riding 1.5 hours each lesson, 1.5 hours of horse time = \$55.00 per lesson x 20 weeks= \$1,100.00
- Option #2: *Children's/Youth: 3.5 Hour Horseback Riding Program, Riding 2.0 hours each lesson, 1.5-hour horse time= \$75.00 per lesson x 20 weeks = \$1,500.00

- Option #3: *Children's/Youth: 4.0 Hour Horseback Riding Program, Riding 3.0 hours, 1.0 hours of horse time= \$90.00 per lesson x 20 weeks = \$1,800.00
- Option #4: *Children's/Youth: CHOOSE 2 days from Tues., Wed., Thurs., or Fri., Riding 1.5 hours one day and 2.0 the 2nd day, horse time when not riding, riding 2x a week \$175.00 week x 20 weeks= \$3,500.00
- Option #5: *Children's/Youth: 5.0 Hour horseback riding program, Thursdays ride 2:30pm to 7:30pm, 3pm to 8pm, or 4pm to 9pm, 4.0 riding time, 1.0 horse time, 1x a week \$125.00 week x 20 weeks = \$2,500.00
- Individual Horseback Riding Classes-Single or Double (ages 2 and up):

Dates: Wednesday, Thursday & Friday

Sessions: January 24-June 21, 2024

Individual Single Riding Classes, \$75.00.

Individual Double Riding classes, \$75.00 per class x = 150.00

Time Options: 3 p.m. to 9 p.m., 45 Minutes each rider is riding a SINGLE CLASS, 1.5 hours each rider is riding a double class.

• Girl Scout Horseback Riding Program: Email for dates & times. 5pm to 8pm, 5:30pm to 830pm, 6pm to 9pm; 3 hour visits, 1 hour of riding & 2 hours of horse care, horse education, feeding bathing, etc. \$50.00 per rider. April 11, 18, 25; May 02, 09, 16, 23, 30; June 06, 13, 20, 2024: Email me for a Girl Scout Contract.

Other Horseback Riding Tuition fees:

Prospective Trial for Lessons: \$50.00 per trial lessonIndividual Sibling Lessons= \$50.00 per rider for 45 minutes x 2 = \$100.00

Payment: Checks can be made out to: MOMS, Cash, VENMO- Meadows of Mendon Stables, accepted by the stable's web site. VENMO fee's 2.29% X added to the total amount of riding tuition= total amount due Example: \$100.00 riding tuition due x 2.29%= \$102.29 Due in full Monthly Payments must be made and are due by first of each month.

ASTM riding helmets provided.

Riders must wear boots with a 1/4" heel, NO OPEN TOED FOOTWEAR.

English and Western Pleasure Riding available.

22 Horses & Ponies to select from for your riding time!

Questions, please email meadowsofmendonstables@twc.com

Instructors: Ms. Amy & Ms. Kara

Please complete this form and mail with payment.					
Name of person completing Form:					
Name of rider:					
Email Address:					
Home Address:					
Cell Phone:					
Do you text?					
Anything that I need to be aware of? Disabilities? Special circumstances?					
Name of Program Registering For: Please Circle					
Adult Program Family Program Childrens Program-Pee Wee					
Youth Program(Lease Option): #1, 2, 3, 4, 5.					
Individual horseback riding lesson Single or Double					
Winter-Spring-Summer-Fall Riding Spring Break Riding					
Columbus day Veterans Day					
Preferred Time?					
Day: Wednesday Thursday Friday					
Time and Day Options:					
Office Notes:					
Current Student: re-enter: wait list?					